

## INVERSE THEOREMS OF APPROXIMATION THEORY IN $L_{p,\alpha}(\mathbb{R}^+)$

R. DAHER, S. EL OUADIH

ABSTRACT. In this paper, We prove analogues of some inverse theorems of Stechkin ,for the Bessel harmonic analysis, using the entire functions of exponential type.

### 1. INTRODUCTION AND PRELIMINARIES

Yet by the year 1912, S. Bernstein obtained the estimate inverse to Jakson's inequality in the space of continuous functions for some special cases [2], later S.B.Stechkin [4], M.Timan [7], etc, proved such inverse estimates , including the case of the space  $L^p$ ,  $1 < p < \infty$ .

In this paper, we obtain the estimate inverse to Jakson's inequality in the space  $L_{p,\alpha}(\mathbb{R}^+)$  (see [1], Theorem 1.1) ,where the modulus of smoothness is constructed on the basis of the Bessel generalized translation.

$L_{p,\alpha}(\mathbb{R}^+)$ ,  $1 \leq p \leq \infty$ , is the Banach space of measurable functions  $f(x)$  on  $\mathbb{R}^+$  with the finite norm

$$\|f\|_{p,\alpha} = \begin{cases} \left( \int_0^\infty |f(x)|^p x^{2\alpha+1} dx \right)^{\frac{1}{p}} & \text{if } 1 \leq p < \infty \\ \sup_{x \in \mathbb{R}^+} |f(x)| & \text{if } p = \infty \end{cases}$$

Everywhere  $\alpha$  is a real number,  $\alpha > \frac{-1}{2}$ , Let

$$B = \frac{d^2}{dx^2} + \frac{(2\alpha + 1)}{x} \frac{d}{dx},$$

be the Bessel differential operator. By  $j_\alpha(x)$  we denote the Bessel normalized function of the first kind, i.e,

$$j_\alpha(x) = \Gamma(\alpha + 1) \sum_{n=0}^{\infty} \frac{(-1)^n}{n! \Gamma(n + \alpha + 1)} \left( \frac{x}{2} \right)^{2n},$$

where  $\Gamma(x)$  is the gamma-function (see [3]). The function  $y = j_\alpha(x)$  satisfies the differential equation  $By + y = 0$  with the condition initial  $y(0) = 1$  and  $y'(0) = 0$ .

---

2010 *Mathematics Subject Classification.* 34A30, 34D20.

*Key words and phrases.* generalized continuity modulus, entire functions of exponential type , best approximation.

Submitted Dec. 17, 2014.

The function  $j_\alpha(x)$  is the infinitely differentiable, even.

The Bessel transform is defined by formula (see [3])

$$\widehat{f}(t) = \int_0^\infty f(x)j_\alpha(tx)x^{2\alpha+1}dx, \quad t \in \mathbb{R}^+.$$

The inverse Bessel transform is given by the formula

$$f(x) = (2^\alpha\Gamma(\alpha+1))^{-2} \int_0^\infty \widehat{f}(t)j_\alpha(tx)t^{2\alpha+1}dt.$$

We note the important property of the Bessel transform

$$\widehat{Bf}(t) = -t^2\widehat{f}(t).$$

In  $L_{p,\alpha}(\mathbb{R}^+)$ ,  $1 \leq p \leq \infty$ , we consider the Bessel generalized translation

$$T_h f(x) = \frac{\Gamma(\alpha+1)}{\Gamma(\frac{1}{2})\Gamma(\alpha+\frac{1}{2})} \int_0^\pi f(\sqrt{x^2+h^2-2xh\cos x})(\sin x)^{2\alpha}x dx.$$

Some of its properties are as follows (see [3] -[8]):

- (a)  $T_h j_\alpha(\lambda x) = j_\alpha(\lambda x)j_\alpha(\lambda h)$ ;  $x, h, \lambda \in \mathbb{R}^+$ ,
- (b)  $T_h f(x) = T_x f(h)$ ,
- (c)  $\widehat{T_h f}(t) = j_\alpha(th)\widehat{f}(t)$ ,
- (d)  $B(T_h f) = T_h(Bf)$ ,
- (e)  $\|T_h f\|_{p,\alpha} \leq \|f\|_{p,\alpha}$ ,
- (f)  $\|T_h f - f\|_{p,\alpha} \rightarrow 0, h \rightarrow 0$ .

The finite differences of the first and higher orders are defined as follows:

$$\Delta_h f(x) = T_h f(x) - f(x) = (T_h - I)f(x),$$

where  $I$  is the identity operator in  $L_{p,\alpha}(\mathbb{R}^+)$ , and

$$\Delta_h^k f(x) = \Delta_h(\Delta_h^{k-1} f(x)) = (T_h - I)^k f(x).$$

The  $k^{th}$  order generalized modulus of continuity of a function  $f \in L_{p,\alpha}(\mathbb{R}^+)$  is defined by

$$\omega_k(f, t)_{p,\alpha} = \sup_{0 < h \leq t} \|\Delta_h^k f\|_{p,\alpha}.$$

For  $\nu > 0$ , we denote by  $\mathfrak{M}(\nu, p, \alpha)$  the set of even entire functions of exponential  $\leq \nu$  whose restrictions to  $\mathbb{R}^+$  belong to  $L_{p,\alpha}(\mathbb{R}^+)$ . Then the functions in the space  $\mathfrak{M}(\nu, p, \alpha)$  make a natural approximation tool in  $L_{p,\alpha}(\mathbb{R}^+)$ . The best approximation of an  $f \in L_{p,\alpha}(\mathbb{R}^+)$  by functions belonging to  $\mathfrak{M}(\nu, p, \alpha)$  is defined as follows

$$E_\nu(f)_{p,\alpha} := \inf\{\|f - \Phi\|_{p,\alpha} : \Phi \in \mathfrak{M}(\nu, p, \alpha)\}$$

Let  $W_{p,\alpha}^m$  be the Sobolev space of order  $m \in \{1, 2, \dots\}$  constructed from the differential operator  $B$ , that is,

$$W_{p,\alpha}^m = \{f \in L_{p,\alpha}(\mathbb{R}^+) : B^j f \in L_{p,\alpha}(\mathbb{R}^+), j = 1, 2, \dots, m\},$$

where  $B^j f = B(B^{j-1} f)$ , and  $B^0 f = f$ .

**Lemma 1.1** The modulus of smoothness  $\omega_k(f, t)$  has the following properties.

- i)  $\omega_k(f + g, t)_{p,\alpha} \leq \omega_k(f, t)_{p,\alpha} + \omega_k(g, t)_{p,\alpha}$ ,
- ii)  $\omega_k(f, t)_{p,\alpha} \leq 2^k \|f\|_{p,\alpha}$ ,
- iii) if  $f \in W_{p,\alpha}^m$ , then

$$\omega_k(f, t)_{p,\alpha} \leq c_1 t^{2m} \|B^m f\|_{p,\alpha},$$

where  $c_1 = c(\alpha, m)$  is a constant.

**Proof.** (see Proposition 4.1 and Lemma 4.6 in [1])

**Lemma 1.2** For every function  $f \in \mathfrak{M}(\nu, p, \alpha)$ , and any numbers  $m \in \mathbb{N}$  we have

$$\|B^m f\|_{p,\alpha} \leq c_2 \nu^{2m} \|f\|_{p,\alpha},$$

where  $c_2 = c(\alpha, m)$  is a constant.

**Proof.** (see Theorem 3.4 in [1])

**Lemma 1.3** If  $1 \leq p < p' \leq \infty$ , then

$$\|f\|_{p',\alpha} \leq c_3 \nu^{(2\alpha+2)(\frac{1}{p} - \frac{1}{p'})} \|f\|_{p,\alpha},$$

for all  $f \in \mathfrak{M}(\nu, p, \alpha)$ , where  $c_3 = c(\alpha, p, p') > 0$  is a constant.

**Proof.** (see [1], Theorem 3.5 )

## 2. MAIN RESULTS

Let  $c_1, c_2, \dots$  be positive constants possibly depending on  $k, m$  and  $\alpha$ .

**Lemma 2.1** For  $j \geq 1$  we have

$$2^{2k(j-1)} E_{2^j}(f)_{p,\alpha} \leq \sum_{l=2^{j-1}+1}^{2^j} l^{2k-1} E_l(f)_{p,\alpha}.$$

**Proof.** Note that

$$\sum_{l=2^{j-1}+1}^{2^j} l^{2k-1} \geq (2^{j-1})^{2k-1} 2^{j-1} = 2^{2k(j-1)}.$$

Since  $E_l(f)_{p,\alpha}$  is monotonically decreasing, we conclude that

$$2^{2k(j-1)} E_{2^j}(f)_{p,\alpha} \leq \sum_{l=2^{j-1}+1}^{2^j} l^{2k-1} E_l(f)_{p,\alpha}.$$

**Lemma 2.2** For  $n \in \mathbb{N}$  we have

$$2^k E_n(f)_{p,\alpha} \leq \frac{c_4}{n^{2k}} \sum_{j=0}^n (j+1)^{2k-1} E_j(f)_{p,\alpha}.$$

**Proof.** Note that

$$\sum_{j=0}^n (j+1)^{2k-1} \geq \sum_{j \geq \frac{n}{2}-1}^n (j+1)^{2k-1} \geq \left(\frac{n}{2}\right)^{2k-1} \frac{n}{2} = 2^{-2k} n^{2k}.$$

Since  $E_l(f)_{p,\alpha}$  is monotonically decreasing, we conclude that

$$2^k E_n(f)_{p,\alpha} \leq \frac{c_4}{n^{2k}} \sum_{j=0}^n (j+1)^{2k-1} E_j(f)_{p,\alpha}.$$

**Lemma 2.3** If  $\Phi_\nu \in \mathfrak{M}(\nu, p, \alpha)$  such that  $\|f - \Phi_\nu\|_{p,\alpha} = E_\nu(f)_{p,\alpha}$  For every  $\nu \in \mathbb{N}$ , then

$$\|B^k \Phi_{2^{j+1}} - B^k \Phi_{2^j}\|_{p,\alpha} \leq c_2 2^{2k(j+1)+1} E_{2^j}(f)_{p,\alpha}.$$

In particular

$$\|B^k \Phi_1\|_{p,\alpha} = \|B^k \Phi_1 - B^k \Phi_0\|_{p,\alpha} \leq c_2 2^{4k+1} E_0(f)_{p,\alpha}.$$

**Proof.** By lemma 1.2 and the fact that  $E_\nu(f)_{p,\alpha}$  is monotone decreasing with respect to  $\nu$ , we obtain

$$\begin{aligned} \|B^k \Phi_{2^{j+1}} - B^k \Phi_{2^j}\|_{p,\alpha} &\leq c_2 2^{2k(j+1)} \|\Phi_{2^{j+1}} - \Phi_{2^j}\|_{p,\alpha} \\ &= c_2 2^{2k(j+1)} \|(f - \Phi_{2^j}) - (f - \Phi_{2^{j+1}})\|_{p,\alpha} \\ &\leq c_2 2^{2k(j+1)} (E_{2^j}(f)_{p,\alpha} + E_{2^{j+1}}(f)_{p,\alpha})_{p,\alpha} \\ &\leq c_2 2^{2k(j+1)+1} E_{2^j}(f)_{p,\alpha} \end{aligned}$$

and

$$\begin{aligned} \|B^k \Phi_1 - B^k \Phi_0\|_{p,\alpha} &\leq c_2 \|\Phi_1 - \Phi_0\|_{p,\alpha} = c_2 \|(f - \Phi_1) - (f - \Phi_0)\|_{p,\alpha} \\ &\leq c_2 (E_1(f)_{p,\alpha} + E_0(f)_{p,\alpha}) \\ &\leq 2c_2 E_0(f)_{p,\alpha} \leq c_2 2^{4k+1} E_0(f)_{p,\alpha} \end{aligned}$$

**Theorem 2.4** For any  $f \in L_{p,\alpha}(\mathbb{R}^+)$ ,  $1 \leq p \leq \infty$ ,  $\nu \geq 0$ , there exists  $f_\nu \in \mathfrak{M}(\nu, p, \alpha)$ , such that  $\|f - f_\nu\|_{p,\alpha} = E_\nu(f)_{p,\alpha}$

**Proof .**

- If  $p = \infty$ , it is the same as the case without weight (see [5], 2.6.2).
- If  $p < \infty$ . Let  $\{f_n\}$  be a sequence in  $\mathfrak{M}(\nu, p, \alpha)$  such that  $\|f - f_n\|_{p,\alpha} \rightarrow E_\nu(f)_{p,\alpha}$  as  $n \rightarrow \infty$ . Then

$$(\exists A > 0)(\forall n \in \mathbb{N}) : \|f_n\|_{p,\alpha} \leq A$$

Using lemma 1.3, we obtain that

$$\|f_n\|_{\infty,\alpha} \leq c_3 A \nu^{\frac{2\alpha+2}{p}}$$

By the compactness theorem (see[6], 3.3.6), there exists a subsequence  $\{f_{n_k}\}$  such that  $f_{n_k}(x) \rightarrow f_\nu(x)$  as  $k \rightarrow \infty$ , holds uniformly on any bounded set, for some  $f_\nu \in \mathfrak{M}(\nu, \infty, \alpha)$ . Hence, for any  $K > 0$ ,

$$\|f_\nu \chi_{\{0 \leq x \leq K\}}\|_{p,\alpha} = \lim_{k \rightarrow \infty} \|f_{n_k} \chi_{\{0 \leq x \leq K\}}\|_{p,\alpha} \leq A$$

Passing to the limit as  $K \rightarrow \infty$ , we obtain that  $\|f_\nu\|_{p,\alpha} \leq A$ , i.e.  $f_\nu \in \mathfrak{M}(\nu, p, \alpha)$   
Furthermore

$$\|(f - f_\nu) \chi_{\{0 \leq x \leq K\}}\|_{p,\alpha} = \lim_{k \rightarrow \infty} \|(f - f_{n_k}) \chi_{\{0 \leq x \leq K\}}\|_{p,\alpha} \leq \lim_{k \rightarrow \infty} \|f - f_{n_k}\|_{p,\alpha} = E_\nu(f)_{p,\alpha}$$

Passing to the limit as  $K \rightarrow \infty$ , we obtain that  $\|f - f_\nu\|_{p,\alpha} \leq E_\nu(f)_{p,\alpha}$   
In view of the definition of  $E_\nu(f)_{p,\alpha}$ , we have  $\|f - f_\nu\|_{p,\alpha} = E_\nu(f)_{p,\alpha}$ .

The following theorems are analogues of the classical inverse theorems of approximation theory due to Stechkin in the case  $p = \infty$  and A.F.Timan in the case  $1 \leq p < \infty$  (see [4], [5]).

**Theorem 2.5** For every function  $f \in L_{p,\alpha}(\mathbb{R}^+)$  and every positive integer  $n$  we have

$$\omega_k(f, \frac{1}{n})_{p,\alpha} \leq \frac{c}{n^{2k}} \sum_{j=0}^n (j+1)^{2k-1} E_j(f)_{p,\alpha},$$

where  $c = c(k, \alpha)$  is a positive constant.

**Proof .**

Let  $2^m \leq n < 2^{m+1}$  for any integer  $m \geq 0$ .

According to theorem 2.4, for  $\nu \geq 0$ , there exists  $\Phi_\nu \in \mathfrak{M}(\nu, p, \alpha)$ , such that

$$\|f - \Phi_\nu\|_{p,\alpha} = E_\nu(f)_{p,\alpha}.$$

By formulas (i) and (ii) of lemma 1.1, we obtain

$$\omega_k(f, \frac{1}{n})_{p,\alpha} \leq \omega_k(f - \Phi_{2^{m+1}}, \frac{1}{n})_{p,\alpha} + \omega_k(\Phi_{2^{m+1}}, \frac{1}{n})_{p,\alpha} \leq 2^k \|f - \Phi_{2^{m+1}}\|_{p,\alpha} + \omega_k(\Phi_{2^{m+1}}, \frac{1}{n})_{p,\alpha}.$$

Therefore

$$\omega_k(f, \frac{1}{n})_{p,\alpha} \leq 2^k E_n(f)_{p,\alpha} + \omega_k(\Phi_{2^{m+1}}, \frac{1}{n})_{p,\alpha}. \quad (1)$$

Now with the aid of lemmas 2.1, 2.3 and formula (iii) of lemma 1.1, we conclude that

$$\begin{aligned} \omega_k(\Phi_{2^{m+1}}, \frac{1}{n})_{p,\alpha} &\leq \frac{c_1}{n^{2k}} \|B^k \Phi_{2^{m+1}}\|_{p,\alpha} \\ &\leq \frac{c_1}{n^{2k}} \left( \|B^k \Phi_1 - B^k \Phi_0\|_{p,\alpha} + \sum_{j=0}^m \|B^k \Phi_{2^{j+1}} - B^k \Phi_{2^j}\|_{p,\alpha} \right) \\ &\leq \frac{c_1 c_2}{n^{2k}} \left( 2^{4k+1} E_0(f)_{p,\alpha} + \sum_{j=0}^m 2^{2k(j+1)+1} E_{2^j}(f)_{p,\alpha} \right) \\ &\leq \frac{c_1 c_2}{n^{2k}} 2^{4k+1} \left( E_0(f)_{p,\alpha} + \sum_{j=0}^m 2^{2k(j-1)} E_{2^j}(f)_{p,\alpha} \right) \\ &\leq \frac{c_1 c_2}{n^{2k}} 2^{4k+1} \left( E_0(f)_{p,\alpha} + E_1(f)_{p,\alpha} + \sum_{j=1}^m \sum_{l=2^{j-1}+1}^{2^j} l^{2k-1} E_l(f)_{p,\alpha} \right) \\ &\leq \frac{c_1 c_2}{n^{2k}} 2^{4k+1} \left( E_0(f)_{p,\alpha} + E_1(f)_{p,\alpha} + \sum_{j=2}^{2^m} (j+1)^{2k-1} E_j(f)_{p,\alpha} \right) \end{aligned}$$

Whence

$$\omega_k(\Phi_{2^{m+1}}, \frac{1}{n})_{p,\alpha} \leq \frac{c_5}{n^{2k}} \sum_{j=0}^{2^m} (j+1)^{2k-1} E_j(f)_{p,\alpha}. \quad (2)$$

Thus from (1) and (2) we derive the estimate

$$\omega_k(f, \frac{1}{n})_{p,\alpha} \leq 2^k E_n(f)_{p,\alpha} + \frac{c_5}{n^{2k}} \sum_{j=0}^n (j+1)^{2k-1} E_j(f)_{p,\alpha}. \quad (3)$$

By lemma 2.2 and formula (3), we have

$$\omega_k(f, \frac{1}{n})_{p,\alpha} \leq \frac{c}{n^{2k}} \sum_{j=0}^n (j+1)^{2k-1} E_j(f)_{p,\alpha}.$$

**Theorem 3.6** Suppose that  $f \in L_{p,\alpha}(\mathbb{R}^+)$  and

$$\sum_{j=1}^{\infty} j^{2m-1} E_j(f)_{p,\alpha} < \infty.$$

Then  $f \in W_{p,\alpha}^m$  and ,for every positive integer  $n$ , we have

$$\omega_k(B^m f, \frac{1}{n})_{p,\alpha} \leq C \left( \frac{1}{n^{2k}} \sum_{j=0}^n (j+1)^{2(k+m)-1} E_j(f)_{p,\alpha} + \sum_{j=n+1}^{\infty} j^{2m-1} E_j(f)_{p,\alpha} \right),$$

where  $C = c(k, m, \alpha)$  is a positive constant.

**Proof.**

Let  $2^m \leq n < 2^{m+1}$  for any integer  $m \geq 0$ . For every positive integer  $r \leq m$ , we consider the series

$$B^r \Phi_1 + \sum_{j=0}^{\infty} (B^r \Phi_{2^{j+1}} - B^r \Phi_{2^j}). \quad (4)$$

It follows from lemmas 2.3 and 2.1 that the series (4) converges in the norm of  $L_{p,\alpha}(\mathbb{R}^+)$  because

$$\begin{aligned} \sum_{j=0}^{\infty} \|B^r \Phi_{2^{j+1}} - B^r \Phi_{2^j}\|_{p,\alpha} &\leq c_2 \sum_{j=0}^{\infty} 2^{2r(j+1)+1} E_{2^j}(f)_{p,\alpha} \\ &= c_2 2^{2r+1} E_1(f)_{p,\alpha} + c_2 2^{4r+1} \sum_{j=1}^{\infty} 2^{2r(j-1)} E_{2^j}(f)_{p,\alpha} \\ &\leq c_2 2^{4r+1} \left( E_1(f)_{p,\alpha} + \sum_{j=1}^{\infty} 2^{2r(j-1)} E_{2^j}(f)_{p,\alpha} \right) \\ &\leq c_2 2^{4r+1} \left( E_1(f)_{p,\alpha} + \sum_{j=1}^{\infty} \sum_{l=2^{j-1}+1}^{2^j} l^{2r-1} E_l(f)_{p,\alpha} \right) \\ &\leq c_2 2^{4r+1} \sum_{j=1}^{\infty} j^{2r-1} E_j(f)_{p,\alpha} < \infty \end{aligned}$$

Note that

$$f = \Phi_1 + \sum_{j=0}^{\infty} (\Phi_{2^{j+1}} - \Phi_{2^j}).$$

Since B is a linear continuous operator (see [1]), we have

$$B^r f = B^r \Phi_1 + \sum_{j=0}^{\infty} (B^r \Phi_{2^{j+1}} - B^r \Phi_{2^j})$$

Whence  $B^r f \in L_{p,\alpha}(\mathbb{R}^+)$  for  $r \leq m$  and  $f \in W_{p,\alpha}^m$ .

By formula (i) of lemma 1.1, we obtain

$$\omega_k(B^m f, \frac{1}{n})_{p,\alpha} \leq \omega_k(B^m f - B^m \Phi_{2^{s+1}}, \frac{1}{n})_{p,\alpha} + \omega_k(B^m \Phi_{2^{s+1}}, \frac{1}{n})_{p,\alpha}.$$

Using lemmas 1.1 , 2.1 and 2.3, we get

$$\begin{aligned}
\omega_k(B^m f - B^m \Phi_{2^{s+1}}, \frac{1}{n})_{p,\alpha} &\leq 2^k \|B^m f - B^m \Phi_{2^{s+1}}\|_{p,\alpha} \\
&\leq 2^k \sum_{j=s+1}^{\infty} \|B^m \Phi_{2^{j+1}} - B^m \Phi_{2^j}\|_{p,\alpha} \\
&\leq 2^k c_2 \sum_{j=s+1}^{\infty} 2^{2m(j+1)+1} E_{2^j}(f)_{p,\alpha} \\
&\leq c_2 2^{k+4m+1} \sum_{j=s+1}^{\infty} 2^{2m(j-1)} E_{2^j}(f)_{p,\alpha} \\
&\leq c_2 2^{k+4m+1} \sum_{j=s+1}^{\infty} \sum_{l=2^{j-1}+1}^{2^j} l^{2m-1} E_l(f)_{p,\alpha} \\
&\leq c_2 2^{k+4m+1} \sum_{j=2^s+1}^{\infty} j^{2m-1} E_j(f)_{p,\alpha}
\end{aligned}$$

Whence

$$\omega_k(B^m f - B^m \Phi_{2^{s+1}}, \frac{1}{n})_{p,\alpha} \leq c_6 \sum_{j=2^s+1}^{\infty} j^{2m-1} E_j(f)_{p,\alpha}. \quad (5)$$

Now with the aid of lemmas 2.1 , 2.3 and by formula (iii) of lemma 1.1, we conclude that

$$\begin{aligned}
\omega_k(B^m \Phi_{2^{s+1}}, \frac{1}{n})_{p,\alpha} &\leq \frac{c_1}{n^{2k}} \|B^{m+k} \Phi_{2^{s+1}}\|_{p,\alpha} \\
&\leq \frac{c_1}{n^{2k}} \left( \|B^{m+k} \Phi_1 - B^{m+k} \Phi_0\|_{p,\alpha} + \sum_{j=0}^s \|B^{m+k} \Phi_{2^{j+1}} - B^{m+k} \Phi_{2^j}\|_{p,\alpha} \right) \\
&\leq \frac{c_1 c_2}{n^{2k}} \left( 2^{4(k+m)+1} E_0(f)_{p,\alpha} + \sum_{j=0}^s 2^{2(k+m)(j+1)+1} E_{2^j}(f)_{p,\alpha} \right) \\
&\leq \frac{c_1 c_2}{n^{2k}} 2^{4(k+m)+1} \left( E_0(f)_{p,\alpha} + \sum_{j=0}^s 2^{2(k+m)(j-1)} E_{2^j}(f)_{p,\alpha} \right) \\
&\leq \frac{c_1 c_2}{n^{2k}} 2^{4(k+m)+1} \left( E_0(f)_{p,\alpha} + E_1(f)_{p,\alpha} + \sum_{j=1}^s \sum_{l=2^{j-1}+1}^{2^j} l^{2(k+m)-1} E_l(f)_{p,\alpha} \right) \\
&\leq \frac{c_1 c_2}{n^{2k}} 2^{4(k+m)+1} \left( E_0(f)_{p,\alpha} + E_1(f)_{p,\alpha} + \sum_{j=2}^{2^s} (j+1)^{2(k+m)-1} E_j(f)_{p,\alpha} \right)
\end{aligned}$$

Whence

$$\omega_k(B^m \Phi_{2^{s+1}}, \frac{1}{n})_{p,\alpha} \leq \frac{c_7}{n^{2k}} \sum_{j=0}^{2^s} (j+1)^{2(k+m)-1} E_j(f)_{p,\alpha}. \quad (6)$$

Thus from (5) and (6) we derive the estimate

$$\omega_k(B^m f, \frac{1}{n})_{p,\alpha} \leq C \left( \sum_{j=n+1}^{\infty} j^{2m-1} E_j(f)_{p,\alpha} + \frac{1}{n^{2k}} \sum_{j=0}^n (j+1)^{2(k+m)-1} E_j(f)_{p,\alpha} \right).$$

#### REFERENCES

- [1] S.S.Platonov, Bessel harmonic analysis and approximation of functions on the half-line, *Izvestiya: Mathematics*, 71:5, 1001-1048,2007.
- [2] S.Bernstein, Sur l'ordre de la meilleure approximation des fonctions continues par des polynomes de degré donné, *Mém.Cl.Sci.Acad.Roy.Belg.*4,1-103, 1912.
- [3] B.M.Levitan, Expansion in Fourier series and integrals over Bessel functions,*Uspekhi Mat.Nauk*, 6, NO.2, 102-143, 1951
- [4] S.B.Stechkin, On the order of best approximation of continuous functions, (Russian) *Izv.Akad.Nauk.SSR, Ser.Math.*, 15 (1954), 219-242.
- [5] A.F.Timan, *Theory of approximation of functions of a real variable*, English transl, Dover publications, Inc, New York, 1994.
- [6] S.M. Nikol'skii, *Approximation of Functions of Several Variables ad Embedding Theorems*, English transl.of 1st ed., Grundlehren Math.Wiss, vol 205, Spring, New York-Heidelberg 1975.
- [7] M.F.Timan, Best approximation and modulus of smoothness of functions prescribed on the entier real axis, (Russian), *Izv.Vyshh. Uchebn. Zaved Matematika*, 25 (1961), 108-120.
- [8] I.A. Kipriyanov, *Singular Elliptic Boundary Value Problems*, [in Russian], Nauka, Moscow (1997).

R. DAHER

FACULTY OF SCIENCE, UNIVERSITY OF HASSAN II, CASABLANCA, MOROCCO

*E-mail address:* rjdaher024@gmail.com

S. EL OUADIH

FACULTY OF SCIENCE, UNIVERSITY OF HASSAN II, CASABLANCA, MOROCCO

*E-mail address:* salahwadih@gmail.com